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Question: 1

Your client informs you that they can no longer connect to the MDS using SSH. You are asked to
troubleshoot this problem. Which type of cable is needed to perform this task?

A. CAT 6 UTP

B. fiber SC-SC

C. serial rollover
D. optical

Answer: C

Question: 2

Click the Exhibit button.

In the exhibit, which types of cables are required to connect the Vblock System 320 VNX to the Cisco
MDS?

A3
B.5
C.7
D.8

Answer: D

Question: 3

On a Vblock System 340, the default configuration policy is to reserve one drive to be used as a hot spare
for every 30 drives of which drive type?

A. the smallest
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B. the largest
C. the same
D. mixed

Answer: C

Question: 4

On a Vblock System 720, what is a characteristic of a boot LUN for a bare metal server?

A. The boot LUN size is fixed.

B. The boot LUN is a meta device.
C. The boot LUN is a thin device.
D. The boot LUN size is variable.

Answer: D

Question: 5

On a Vblock System 720 with a VMAX on Enginuity, what is the exclusive mechanism for allocating
storage?

A. Port groups

B. Storage groups

C. Auto-provisioning groups
D. Initiator groups

Answer: C
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